
(à 4, Psalm 130 - Jean Mouton)
24. De profundis

Sebastian Ochsenkuhn
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1) c and d (h and n) together on the same course not possible.
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Part 2 - Sustinuit anima mea
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

















 













































 















 
 







 







50












 



 







































 












  














 










55 

     

    




 











 





     



































































60





 
































    
 


 








    































   
 














   
65




 


    




 


















 








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


   

   



  



















 



 


  

 









 

70 


  



































    









 




 











 














  


 









  
  












75 
















 





































   






 


 














  











  









  




80


















 
 


 





















       








  

 








 


















    
 











  

85 










































 






 
 




















 

































90






 











  

 










 
  









 























 















 







 




















 






95 








  
 




















  
  








       









  

 








 





  








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